


DISTANCES FROM CENTER OF ROADWAY FOR CROSS-SECTIONING.
Roadway 16 feet wide. Side Slopes 1 on 1.
For Single Track Embankment.
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43.0 43.3
44.0 443
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46.0 46.3 g
47.0 R 47.3 47.6 | 47.7 | 47.8 !
48.01 48114821483 48.7 1 48.8 | 48,

Example—If point is 22.6 ft. above grade, how far should it be from center line
to be a slope stake point? Ans. from Table 30.6. For same slopes but_other widths
of roadbed, correct above figures by one-half difference in width of roadbed; thus in
example above, for 20 ft.roadbed ‘distance will be 30.6+(20—16)+2 or 2 ft. added to

30.6 =32.6. For slopes of 1 on 114 seeinside of back cover,
Copyright, 1914, by Eugene Dietzgen Co,

Made in U. S, A.
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